


Eight persons are sitting around the square table facing away from the center. Four of them sit at the corners 
and four of them sit at edges of the table. Each of them were born in different years i.e. 1993, 1996, 1999, 
2000, 2003, 2006, 2013 and 2016. G sits 3rd to the right of A, who sits at edge of the table. E, who was born 
in 2000 sits 2nd to the right of the person who is younger than only two persons. E sits next to A and C. The 
second oldest person sits 2nd to the right of B. The second youngest person sits 2nd to the right of the person 
who is older than only three persons. A who was born in (1) sits 3rd to the left of the oldest person. Neither 
H nor C sit next to B, who was born (2) years after C. Three persons sit between C and H. B does not born in 
2006 and 2013. The person who was born in 1999 sits 2nd to the right of the person who was born in 2006. D 
is older than F. (3) sits 3rd to the right of C.
आठ व्यक्ति वर्गाकगर मेज के चगरों ओर कें द्र से बगहर की ओर उन्मुख होकर बैठे हैं। उनमें से चगर कोने पर
बैठे हैं और उनमें से चगर मेज के ककनगरों पर बैठे हैं। उनमें से प्रत्येक कग जन्म ववभिन्न वर्षों अर्गाि 1993,
1996, 1999, 2000, 2003, 2006, 2013 और 2016 में हुआ र्ग। G, A के दगयें से िीसरे स्र्गन पर बैठग
है, जो मेज के ककनगरे पर बैठग है। E, क्जसकग जन्म 2000 में हुआ र्ग, उस व्यक्ति के दगयें से दसूरे स्र्गन
पर बैठग है जो केवल दो व्यक्तियों से छोटग है। E, A और C के बर्ल में बैठग है। दसूरग सबसे बडग व्यक्ति B 
के दगयें से दसूरे स्र्गन पर बैठग है। दसूरग सबसे छोटग व्यक्ति उस व्यक्ति के दगयें से दसूरे स्र्गन पर बैठग है
जो केवल िीन व्यक्तियों से बडग है। A क्जसकग जन्म (1) में हुआ र्ग, वह सबसे बडे व्यक्ति के बगयें से
िीसरे स्र्गन पर बैठग है। न िो H और न ही C, B के बर्ल में बैठे हैं, क्जसकग जन्म (2) ,C के बगद हुआ र्ग।
C और H के बीच िीन व्यक्ति बैठे हैं। B कग जन्म 2006 और 2013 में नहीीं हुआ है। वह व्यक्ति क्जसकग
जन्म 1999 में हुआ र्ग वह उस व्यक्ति के दगयें से दसूरे स्र्गन पर बैठग है क्जसकग जन्म 2006 में हुआ
र्ग। D, F से बडग है। (3) C के दगयें से िीसरे स्र्गन पर बैठग है।



Each of them were born in different years i.e. 1993, 1996, 1999, 2000, 2003, 2006, 2013 and 2016. G sits 3rd 
to the right of A, who sits at edge of the table. E, who was born in 2000 sits 2nd to the right of the person 
who is younger than only two persons. E sits next to A and C. The second oldest person sits 2nd to the right 
of B. The second youngest person sits 2nd to the right of the person who is older than only three persons. A 
who was born in (1) sits 3rd to the left of the oldest person. Neither H nor C sit next to B, who was born (2) 
years after C. Three persons sit between C and H. B does not born in 2006 and 2013. The person who was 
born in 1999 sits 2nd to the right of the person who was born in 2006. D is older than F. (3) sits 3rd to the right 
of C.



Nine persons are sitting around the triangular table facing inside the table. Two persons were sitting 
on each side of the table and one person sit on each corner of the table. They like different brands. T 
sits 2nd to the left of the person who likes duke. Q likes jack and jones and J sits immediate left of him. 
P sits immediate left of the person who likes levis and immediate right of S. One person sit between Q 
and T. R likes Monte carlo and sits at the corner and the person who likes adidas sits 2nd to the left of 
him. I does not sit next to P and K. The person who likes Adidas sits immediate right of the person who 
likes celio. The person who likes Adobe sits 2nd to the left of H, who sits at the corner and two person 
sit between J and the person who likes Adobe. The person who likes puma sits immediate right of the 
person who likes zara. 
नौ व्यक्ति त्रििुजगकगर मेज के चगरों ओर मेज के अींदर की ओर उन्मुख होकर बैठे हैं। मेज के प्रत्येक
सगइड दो व्यक्ति बैठे हैं और मेज के प्रत्येक कोने पर एक व्यक्ति बैठग है। उन्हें अलर्-अलर् ब्गींड
पसींद हैं। T, ड्यूक पसींद करने वगले व्यक्ति के बगयें से दसूरे स्र्गन पर बैठग है। Q को जैक और जोन्स
पसींद है और J उसके ठीक बगएीं बैठग है। P लेवीस पसींद करने वगले व्यक्ति के ठीक बगएीं और S के ठीक
दगएीं बैठग है। Q और T के बीच एक व्यक्ति बैठग है। R को मोंटे कगलो पसींद है और वह कोने पर बैठग है
और एडडडगस पसींद करने वगलग व्यक्ति उसके बगएीं से दसूरे स्र्गन पर बैठग है। I, P और K के बर्ल में
नहीीं बैठग है। वह व्यक्ति क्जसे एडडडगस पसींद है वह सेभलयो पसींद करने वगले व्यक्ति के ठीक दगयें
बैठग है। वह व्यक्ति क्जसे एडोबी पसींद है वह H के बगयें से दसूरे स्र्गन पर बैठग है, जो कोने पर बैठग
है और J और एडोबी पसींद करने वगले व्यक्ति के बीच दो व्यक्ति बैठे हैं। प्यूमग पसींद करने वगलग
व्यक्ति जगरग पसींद करने वगले व्यक्ति के ठीक दगयें बैठग है।



T sits 2nd to the left of the person who likes duke. Q likes jack and jones and J sits immediate left of him. P 
sits immediate left of the person who likes levis and immediate right of S. One person sit between Q and T. R 
likes Monte carlo and sits at the corner and the person who likes adidas sits 2nd to the left of him. I does not 
sit next to P and K. The person who likes Adidas sits immediate right of the person who likes celio. The 
person who likes Adobe sits 2nd to the left of H, who sits at the corner and two person sit between J and the 
person who likes Adobe. The person who likes puma sits immediate right of the person who likes zara. 



एक पगलिू जगनवर की दकुगन में कुत्तों की सगि अलर्-अलर् नस्लें हैं अर्गाि र्ोल्डन ररट्रीवर,
डलेमेटटयन, पर्, मगल्टीज, जमान शेफडा, गे्रहगउीं ड और लैब्गडोर एक टेबल पर पक्चचम से पूवा की ओर
बैठे र्े, जरूरी नहीीं कक इसी क्रम में हों। सगि अलर्-अलर् व्यक्तियों ने, जो दक्षिण की ओर मुींह करके
खडे र्े, अलर्-अलर् रींर् की टोपी यगनी सफेद, िूरी, नीली, लगल, र्लुगबी, गे्र और बैंर्नी रींर् की टोपी
पहने इन कुत्तों को सुपुदा-ए-खगक (डडलीवर) ककयग। क्जस व्यक्ति को उन्होंने ये कुते्त टदए हैं उनकग नगम
P से V है और वे अलर्-अलर् कुत्तों के सगमने उत्तर की ओर मुींह करके खडे हैं, जरूरी नहीीं कक इसी
क्रम में हों। गे्रहगउीं ड ,लैब्गडोर के बर्ल में बैठग है लेककन र्ोल्डन ररट्रीवर के बर्ल में नहीीं बैठग है। िूरे
रींर् की टोपी पहनने वगलग व्यक्ति R और V को कुत्तग नहीीं िेजिग है। T, जो पर् के सगमने खडग है, R के
ठीक बगयें खडग है और ककसी छोर पर नहीीं है। बैंर्नी टोपी पहनने वगलग व्यक्ति लगल टोपी पहनने
वगले व्यक्ति के दगयें खडग है। दलमतिअन जो र्ुलगबी टोपी पहने व्यक्ति द्वगरग टदयग जगिग है वह
मगल्टीज के दगईं ओर बैठिग है। वह व्यक्ति जो र्ोल्डन ररट्रीवर को डडलीवर करिग है, V के ठीक दगयें
खडग है। P, क्जसकी डडलीवरी लगल टोपी पहने हुए व्यक्ति द्वगरग हुई र्ी, वह उस व्यक्ति के बर्ल में
खडग र्ग क्जसे िूरी टोपी पहने हुए व्यक्ति द्वगरग डडलीवर ककयग र्यग र्ग। S जो Q के दगयें खडग है
उसकी डडलीवरी गे्र रींर् की टोपी पहने व्यक्ति ने की र्ी। U, क्जसकी डडलीवरी नीली टोपी वगले व्यक्ति
ने की र्ी, V के बगयें से दसूरे स्र्गन पर खडग र्ग। नीली टोपी पहनने वगलग व्यक्ति लैब्गडोर की
डडलीवरी करिग है। सबसे अींि में सफेद टोपी पहने व्यक्ति खडग र्ग। P को बैंर्नी टोपी पहने व्यक्ति
द्वगरग डडलीवर नहीीं ककयग र्यग र्ग। र्ोल्डन ररट्रीवर और जमान शेफडा के बीच िीन कुते्त बैठे हैं। वह
व्यक्ति जो जमान शेफडा की डडलीवरी है, U के ठीक बगयें खडग र्ग।



In a pet shop there are seven different breed of dogs i.e. Golden Retriever, Dalmatian, Pug, 
Maltese, German Shepherd, Greyhound and Labrador were sitting on a table from west to east, 
not necessarily in the same order. Seven different persons who were standing facing towards 
south delivered these dogs wearing different coloured cap i.e. white, brown, blue, red, pink, 
grey and purple. The person whom they delivered these dogs are names P to V and they are 
standing infront of different dogs facing towards north, not necessarily in the same order. 
Greyhound is sitting next to Labrador but does not sit next to Golden Retriever. The person 
wearing brown cap does not deliver dog to R and V. T, who is standing infront of Pug was 
standing immediate left of R and not at any end. The person wearing purple cap stands to the 
right of the person wearing red cap. Dalmatian which is delivered by the person wearing pink 
cap sits to the right of Maltese. The person who deliver Golden Retriever is standing immediate 
right of V. P, who get delivered by the person wearing red cap was standing next to the person 
who was delivered by the person wearing brown cap. S who is standing to the right of Q was 
delivered by the person wearing grey cap. U, who was delivered by the person wearing blue cap 
was standing second to the left of V. The person wearing blue cap delivers Labrador. The person 
wearing white cap was standing at an end. P was not delivered by the person wearing purple 
cap. Three dogs sit between the Golden Retriever and German Shephard. The person who 
delivers German Shephard was standing immediate left of U. 



Greyhound is sitting next to Labrador but does not sit next to Golden Retriever. The person wearing brown cap does not 
deliver dog to R and V. T, who is standing infront of Pug was standing immediate left of R and not at any end. The person 
wearing purple cap stands to the right of the person wearing red cap. Dalmatian which is delivered by the person wearing 
pink cap sits to the right of Maltese. The person who deliver Golden Retriever is standing immediate right of V. P, who get 
delivered by the person wearing red cap was standing next to the person who was delivered by the person wearing brown 
cap. S who is standing to the right of Q was delivered by the person wearing grey cap. U, who was delivered by the person 
wearing blue cap was standing second to the left of V. The person wearing blue cap delivers Labrador. The person wearing 
white cap was standing at an end. P was not delivered by the person wearing purple cap. Three dogs sit between the 
Golden Retriever and German Shephard. The person who delivers German Shephard was standing immediate left of U. 



A to H are sitting around the circular table. Some of them are facing away from the center. They 
are of different weight. No two persons facing the same direction sit next to each other. E faces 
the center and is heavier than H and G but lighter than D and C. G sits second to the left of C, 
who is heavier than five persons. A sits third to the right of G, who is heavier than only A and B. 
The person who is the lightest faces the center and sits opposite to the person who is the 
heaviest but does not sit next to the person who is just heavier than him. D is heavier than C but 
lighter than F and faces away from the center and does not sit next to A and E.

A से H वतृ्तगकगर मेज के चगरों ओर बैठे हैं। उनमें से कुछ कग मुख कें द्र से बगहर की ओर है। वे
अलर्-अलर् वजन के हैं। समगन टदशग की ओर उन्मुख कोई िी दो व्यक्ति एक-दसूरे के बर्ल
में नहीीं बैठे हैं। E कग मुख कें द्र की ओर है और वह H और G से िगरी है लेककन D और C से हल्कग
है। G, C के बगएीं से दसूरे स्र्गन पर बैठग है, जो पगींच व्यक्तियों से िगरी है। A, G के दगयें से िीसरे
स्र्गन पर बैठग है, जो केवल A और B से िगरी है। वह व्यक्ति जो सबसे हल्कग है वह कें द्र की
ओर उन्मुख है और सबसे िगरी व्यक्ति के ववपरीि बैठग है लेककन अपने से ठीक िगरी व्यक्ति
के बर्ल में नहीीं बैठग है। D, C से िगरी है लेककन F से हल्कग है और कें द्र से बगहर की ओर उन्मुख
है और A और E के बर्ल में नहीीं बैठग है।



A to H are sitting around the circular table. Some of them are facing away from the center. They are of 
different weight. No two persons facing the same direction sit next to each other. E faces the center 
and is heavier than H and G but lighter than D and C. G sits second to the left of C, who is heavier than 
five persons. A sits third to the right of G, who is heavier than only A and B. The person who is the 
lightest faces the center and sits opposite to the person who is the heaviest but does not sit next to 
the person who is just heavier than him. D is heavier than C but lighter than F and faces away from the 
center and does not sit next to A and E.



Eight person P to W are sitting in a row. Some of them are facing south. They are sitting in the ascending
order of their ages from left to right. The eldest person sits at an end and is immediately followed by the
second eldest, who is facing south. V is facing north and sits third to the right of U. As many person sit
between Q and S as between Q and T. S’s age is 35. Three persons are facing south and the persons sitting
at the extreme ends are facing same direction. Q, S and U are facing same direction. Twice P’s age is one
less than S’s age. The eldest person is 50 years old and the youngest person is 14 years old. U is one year
younger to W and his age is a perfect square. P is the second youngest and sits second from the left end,
facing north. R’s age is 37 and sits fourth to the right of P. The sum of the ages of Q and V is equal to that
of U. The sum of the ages of Q and T is equal to that of S.
आठ व्यक्ति P से W एक पंक्ति में बैठे हैं। उनमें से कुछ का मुख दक्षिण की ओर है। वे अपनी आयु के
बढ़िे क्रम में बाएं से दाएं बैठे हैं। सबसे बडा व्यक्ति एक छोर पर बैठा है और उसके ठीक बाद दसूरा सबसे
बडा व्यक्ति बैठा है, क्िसका मुख दक्षिण की ओर है। V का मुख उत्तर की ओर है और वह U के दायें से
िीसरे स्थान पर बैठा है। Q और S के बीच उिने ही व्यक्ति बैठे हैं क्ििने Q और T के बीच बैठे हैं। S की
आयु 35 है। िीन व्यक्तियों का मुख दक्षिण की ओर है और अंतिम छोर पर बैठे व्यक्तियों का मुख समान
ददशा की ओर है। Q, Sऔर U समान ददशा की ओर उन्मुख हैं। Pकी आयु का दोगुना, Sकी आयु से एक कम
है। सबसे बडा व्यक्ति 50 वर्ष का है और सबसे छोटा व्यक्ति 14 वर्ष का है। U, W से एक वर्ष छोटा है और
उसकी आयु एक पूणष वगष है। P दसूरा सबसे छोटा है और उत्तर की ओर उन्मुख होकर बाएं छोर से दसूरे
स्थान पर बैठा है। R की आयु 37 है और वह P के दायें से चौथे स्थान पर बैठा है। Q और V की आयु का
योग U के बराबर है। Qऔर Tकी आयु का योग S के बराबर है।



Eight person P to W are sitting in a row. Some of them are facing south. They are sitting in the ascending order of
their ages from left to right. The eldest person sits at an end and is immediately followed by the second eldest,
who is facing south. V is facing north and sits third to the right of U. As many person sit between Q and S as
between Q and T. S’s age is 35. Three persons are facing south and the persons sitting at the extreme ends are
facing same direction. Q, S and U are facing same direction. Twice P’s age is one less than S’s age. The eldest
person is 50 years old and the youngest person is 14 years old. U is one year younger to W and his age is a perfect
square. P is the second youngest and sits second from the left end, facing north. R’s age is 37 and sits fourth to
the right of P. The sum of the ages of Q and V is equal to that of U. The sum of the ages of Q and T is equal to that
of S.
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